
A

D

B

C

M8x16

M8

M8

M8

M8x16

M8

M8x16

A. 1x
B. 1x
C. 1x
D. 1x

 M8 x 16:  12x
  M8:          4x
 M8:          4x

 M8:          4x

4mm
5mm
6mm
7mm

M8: 4x 1mm
2mm
3mm

Assembly instructions

Turnable arm hanging

Red Line



5

A

B

C

1 2

3

D

4


